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Review for Final ( 1033) Name:

ERUpO7S

1. Simplify: (-2)*

(1] 0
2. Simplify: M
b
2% )"
3. Simplify: [ )_Cf ] Write your answer without negative exponents.
Xy

4. Solve: —2(x-3)=3(2x-6)

5 Solve: E-—f =5
3 4

6. Give the degree of P(x)=-x" +3x-1

7. Let O(x) =—2x* —3x+17. Find and simplify: Q(0).
8. Simplify: (63> —4y> +y)-(-4y* +3y—-1)+(* +4)
9. Multiply: —3abc’ (4abc ~c? )

10.  Write (x - 4y)2 without using parentheses.

11.  Multiply (3x + 7)(2x = 5)

1. x+2j4x3 +8x% —6x

13.  Factor completely: 64a°b® +16a’b—4a’h’

14.  Factor completely: 2y* —98

15.  Factor completely: 16a® +545°

16.  Factor completely:  xy® —4x+3y°> -12

17.  Factor completely:  x* ~3x-18



18.  Factor completely:  —12+6x" —21x
19.  Solve: 6x*>-3x=0

20. Solve: x(x*S):G

64x*y*
21, Simplify: —
Py 24x3y10
6x
- 5y
22. Simplify: —
10

23.  Graph the equation: 2x+3y=12 24.  Find the slope of the line below.
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25.  The graph of the equation 7x+5y =35 is a straight line. Find its slope and y intercept.

26.  Aretwo lines with slopes of 4 and —?} parallel, perpendicular, or neither?

27.  Write the equation of the line that has a slope of -2 and passes through the point (6, 8).



38.

39.

40,

41.

42.

43.

44,

45.

46.

47.

48.

49,

50,

51

52.

53.

54.

e

310

4

Simplify by rationalizing the denominator:

Simplify: +vx* +8x+16. (Assume x >—4)

Simplify and combine like terms: /24 —2%/81

Mulfiply: [— % Ba ](8@ )

Simplify by rationalizing the denominator:

3
V2-1
Solve forx: 32-x-3=0
Solve forx: vVx2+5=5+x
Solve by factoring: x(2x -1 1) =12
Solve: (x—2)*-3=0
Solve by completing the square: x> —6x+11=0

Use the quadratic formula to solve 4x* —2x~3=0. Be sure to simplify all radicals and
fractions.

Solve forz: z?+64=0
Multiply: (2 + VIT":XZ . ) Write your answer in a+5i form.
Simplify: |7 - 4| + |—5] — (»—4)

B and simplify.

Assume that x=2, y=-3, and z =-1. Evaluate
yx—2z

A 200 foot rope is cut into four pieces, three of equal length, and a fourth that is twice the
length of one of the others. How long is the longest piece?

Find the area of a rectangular pasture whose perimeter is 44 meters and whose length is 4
meters longer than it width.



28.

29

30.

3L

32.

33.

34.

35.

36.

37,

Write the equation of the line with an x-intercept of 4 and a y-intercept of 8.
Write the equation of the line passing through the points (3, 4) and (-2, 4).

Graph the inequality y <2x+3.

=

- 23 ; : .
Simplify: (Egj . Write the answer without negative exponents.

3

Simplify: (81x*y* )+

2 4

Simplify: 63 %63
Simplify: NEy (Assume n>0)
Simplify: 3{—2000x° 7

Simplify:
3xp’

Simplify by rationalizing the denominator: =

77




35,

Find all solutions or state “no solution”: [5x - 3| =—4

Perform the indicated operations and simplify if possible.

56.

58.

60.

62.

64.

66.

67.

68.

69.

70.

7L

T2

73.

+2¥~-3 ¥ -3 & =9 x-3
e 5T =
x* -9 x—1 r+8 ¥-2x+4
4x+2u2x+8 50, 3x~1+x—1
x-—3 x-3 x—4 4-—x
) 2~
bie b 61. s
2
Solve: L 1.2k 63.  Solve: LI— N
a 4 2a x+3 x-1
Solve: 1+x+2:§ 65. Solve: 4% _4:14-4;:
x+3 3 x—2 x—2

One hose can fill a tank in 6 hours. If a second hose is added, the two hoses fill the tank
in 4 hours. How long will it take the second hose alone to fill the tank?

Paula can mow a lawn in 3 hours and Bill can mow the same lawn in 2 hours. How long
will it take them to mow the lawn if they work together?

Find the domain of the function defined by y= i}
X

Graph the function f(x) =x* +4x +7 which can also be written as f(x) = (x+2) +3.

Find the length of the hypotenuse of a right triangle with legs that are 12 cm and 5 ¢cm
long.

The length of a rectangle is 12 inches and its diagonal measures 13 inches. Find the
width of the rectangle.

Subtract: (2-3i)—(3+ 4i)

Simplify: I_t_{
i



3+J—‘i
24

75. Solve A=P+PRT for P

74. Simplify:

76.  Isthe graph below a function? (Yes or No)
L

r18

AN

—4 5 2
_5
—18
- : 4x —14y = -15
75 Solve the system of equations by any convenient method. ¥
18x—-12y =9
5x
78.  Simplify: —X*+7
implify =
X’ +8x+7

Use the following set of numbers to answer questions 79 thru 82. {2, 0,-3, %, g, '\E, x/Z, 31}

79. Which of the numbers above are natural?
80. Which of the numbers above are rational?
81.  Solve: |3v2x|:5 82.  Solve: 2{x+3)<4

For 83 thru 85 graph the solution set on a number line.

8. 2<%y 84 |x+1|>2 85.

Z 14> -1
= 3




Answers

22.

23.
24.
25.
26.
27.
28.
29.
30.

k.
wfb.)o\

1
4x°°
3
12
4
17

Ty’ -2y +5

~12a%b%*c* +3abc®
x* —8xy +16y°
6x*—x-35

12
x+2
4a°b(16b+4a—b?)

2+ NDy~T)
2(2a+3b)(4a’ - 6ab+9b)
(x+3)y+2)(y-2)
(x—6)(x+3)
3Q2x+1)(x—4)
0,172
1,6

—8x

3y?
12

Y
See back page
1/2
-7/5

Perpendicular
y=-2x+20

y=-2x+8
F=4
See back page

4x* -6+

2.

32.
33.
34,

35.
36.

37.

38.

39,

40.
41.

42.
43.

45.
46.

47.

48.

49,
50.
51
52.
53.
54.
55.
56.

5T
58.
59.
60.

25

9

Pz y*

36

Am*n’ 2mn

-10x°3f2x"y
6y*

347

g

/20

2
x+4

- 4%
-36a
342 +3
-25

-2

4 3/2
243
3402
1+413

4

8i, -8i
6+2i

12

1

80 feet
117 sq. meters
no solution
x+1
x+3
x+2

Z

x—4
V2

61.
62.
63.

65.
66.
67.
68.
69.
70.
1l
72.
73,
74.

73.
76.
7.

78.

7

80.

81.
82.

83,
84.
85.

2ly
6
-5
0
no real solution
12 hours
6/5 hours
All real #’s except 0
See back page
13 cm.
5in.
-1-7
1-i
ok
Pe A
1+RT
Yes

&3

x(x+1)
2
{2, 2, ﬁ}

{21 0’ = 37

1,4

(_w5 —1]
(~12,-8)

(—o0, ~3]U[L, )
(—co, —12)U(6, )

IS

34l




23.

-3

-2

-1

=1

29,

N

~JV

-3

-1

=

-2



